ASSEMBLY INSTRUCTION

STOCKHOLM LOUNGE

IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.



Admin
Text Box
STOCKHOLM LOUNGE


PARTS

Ax4 Bx8 Cx 57 D x 4
WWWWW @
M6x90 mm M6x30 mm @16x1 mm M6x60 mm
Ex 33 Fx17 Gx17 Hxa
: D
T D
@
M6x40 mm M6x55 mm 50x50x65 mm 4 mm
Jx8 Kx 4
=
M6x4 mm 25x88%x2 mm

EXPLODED DRAWING

IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.

Thank you.




IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.




IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.










IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.




IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.




| e

IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.







IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.






IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.




IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.




) —

%

IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.






IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.




WARNING

- DO NOT JUMP ON THIS CHAIR(SOFA) ,DO NOT USE THIS CHAIR AS STEP
LADDER.

- DO NOT USE THE PRODUCT UNLESS ALL BOLST, SCREWS AND KNOBS
ARE FIRMLY SECUERD.

- IF PARTS ARE MISSING. BROKEN, DAMAGED OR WORN, STOP USE OF
THE PRODUCT UNTIL REPAIRS ARE MAKE, USING FACTORY AUTHORIZED
PARTS.

- KEEP PRODUCT AWAY FROM FIRE.
- BE CAREFUL NOT TO DROP CIGARETTE BUTTS ON THE PRODUCT.

- MATTRESS COVER ARE ALLOW TO WASHING BUT DO NOT USE BLEACH
IN EXCESSIVE, KEEP HEALTHY.

- DO NOT ALLOW CHILDREN TO USE PLASTIC BAGS TO AVOID
SUFFOATION.





